wstawation EDENBEAR &=

=T = Model AS-3

INSTRUCTIONS PRODUCTS ., INC. , 2-speed Air Shifter
1917 OAK PARK BLVD. PLEASANT HILL, CA 94523 gm Quarter Stick I
(925)935-3025 FAX (925)935-2287 (Rear exit only)

The model AS-3 shifter is designed for two speed applications (Powerglide) using the Hurst Quarter Stick Il with rear
exit cable. If you are using a B&M Pro-Stick or a Hurst Quarter Stick front exit cable, you need to use a Dedenbear
Products model AS2 CO2 shifter kit. Drilling or modification to the actual gear shifter itself is NOT required; the kits are
complete bolt ons.

FOR HURST QUARTER STICK II

1) Remove the existing mounting bolts that hold the Hurst shifter down to the floor.

2)  Remove the air ram section from the mounting bracket on the AS3 shifter by removing the 5/8" nut from the air
cylinder.

3)  Lift up the Hurst shifter and slide the AS3 mounting bracket underneath the Hurst unit. Line up the mounting holes.

4)  Replace the hold down bolts and tighten. The AS3 mounting bracket will be sandwiched between the Hurst shifter
and the floorboard. The AS3 shifter does not interfere with the existing Hurst neutral start switch.

5)  Slip the two (2) stainless steel 5/8" washers over the air cylinder mounting threads then insert the cylinder into the
mounting bracket hole. Thread on the 5/8" nut and tighten. The solenoid should be sticking straight out to the side .

6)  Connect the air line to the solenoid. The small brass insert slips inside the plastic tubing so that when you tighten
down the fitting nut, you don't crush the tubing.

7)  Set your CO2 bottle regulator pressure to about 70 psi. The solenoid and air cylinder will work at any pressure up
1o 160 psi.

8)  Mount the RPM switch wherever it is comfortable to reach. It is best to mount the unit as far away from the ignition
system as possible and do not mount it on thin sheet metal (aluminum tin work) because of the severe vibration.

9)  Wire the RPM switch as shown in the diagram on the reverse side.

10)  You are now ready to test and adjust the CO2 shifter. With the car's engine NOT running, turn on the CO2 bottle
and put the car into low gear.

11) Press and hold the "MANUAL UPSHIFT" button on the RPM switch. The plunger should extend and shift the
transmission. Make sure that the shifter is all the way into high gear; then check for clearance between the air ram
plunger and the shift lever. If there is more than 1/16 inch, then remove one of the 5/8 shim washers from the air ram
and retest. Remove the second shim washer if needed.

12) MAKE SURE THAT THERE IS SOME CLEARANCE BETWEEN THE RAM AND THE SHIFT LEVER WHEN THE
SHIFTER IS IN HIGH GEAR AND THE AIR RAM PLUNGER IS EXTENDED. If not, the Hurst shifter will be damaged.

13)  You are now ready to make your runs. Set the thumbwheels to the desired shift-point. If the disable wires are
connected to the RPM switch, the shifter will not shift any time the transbrake or line lock is applied. 1/2 second after
you leave the starting line, the RPM switch will shift any time the RPM reaches the shift point. This disable and time
delay feature prevents false shifting due to tire spin or converter flash at the starting line, and also allow the driver full
control of the shifter during the burnout while the line lock is applied.

WIRING INSTRUCTIONS
AND
WARRANTY INFORMATION ON BACK

For Tech. Assistance, Call: (925)935-3025

Orig. 5/06 Rev. 1/98



WIRING DIAGRAM

TO "TACH" OUTPUT ON MSD TIP:, If using a MSD igntion, ground the
IGNITIONS & MALLORY IGNITIONS RPM switch "GROUND" terminal at the
g@S”TgS OR " - " SIDE OF COIL ON STD. IGN. same point the MSD unit is grounded.

FUSE 3 AMP
+12V
NN\ - e
\ RND.
'I €02 AIR 16 - 18 gauge wire C.

SHIFTER
TO TRANSBRAKE ~**"*""@[TRANSBRAKE -
SOLENOID ~ = <SILINE LOCK RPM-2

TIP: Hook up the "disable" terminals to the
"Line Lock™ & "Transbrake" solenoids. This
*disables" the RPM switch while these

solenoids are activated

OPERATION

1. Set the push button switches to the desired shift RPM.

2. If the Line Lock and / or Transbrake disable wires are hooked up, the shifter will not shift when the solenoids are
on. This keeps the car from shifting during the water burnout and prevents premature shifting if the engine
overspeeds (wheelspin, converter flash, etc.) during launch and .6 seconds after release of the transbrake.

3. You can now race. Shift to low gear, stage the car. Make your run. At the dialed in RPM, the shifter will shift
automatically at your pre-set RPM from 1st to 2nd.

4. If you wish to check the RPM setting, you can set the push button switches to a lower RPM and check
operation. Setting the shift point below 3,000 RPM is not recommended. Pressing the "Manual Upshift" button
will shift the shifter any time (even without the engine running). "Manual Upshift" is good for testing purposes or
for "short shifting" during a run.

TO LINE LOCK
SOLENOID <.....-...¢

SEXC%’WX‘?ED For the remainder of the race,

DURING LAUNCH the RPM SWITCH triggers the
RPM SWITCH When Line Lock and / or shifter to shift the transmission
DEACTIVATED Transbrake are released, a at the desired RPM.

IN STAGING preset delay (approx 5 sec.)
BZXCT IVI;'(I':EHD Rea‘m gd MCH  remalns fhelnmg faunch. aurt

PM SWITCH  rem R_Shifting during
FOR BURNOUT deaciivated untl Line Lock

and / or Transbrake solenoid
The 12 volt switch used to control  ig released.

the Line Lock and / or Transbrake

also can be used to deactivate the

SWITCH set point without shifting
the transmission during burnouts

LIMITED 1 YEAR WARRANTY

Dedenbear Products components are warranted directly by Dedenbear Products against defective material or workmanship under normal use and service for a penod of one (1) year after purchase. Dedenbear
Products wilt repair or reptace the defective unit, at Dedenbear Products option, free of charge. This warranty does not cover any damage to the component caused by abuse, mishandling, alteration, accident,
elecmcal current fluctuations, tailure o follow installation/operating instructions, maintenance, storage and environmental conditions, or repair attemps made anyone other than Dedenbear Products Authorized

Service facility.
DEDENBEAR PRODUCTS SHALL NOT 8E LIABLE FOR INJURY, CONSEQUENTIAL, OR OTHER TYPE DAMAGES RESULTING FROM THE USE OF ITS PRODUCTS, OTHER THAN THE LIABILITY
STATED A This warranty is in lieu of all other warranties of merchantability or fitness of use. This warranty gives you specific leg hm and you may also have other rights which vary from state 1o state.

For Service on all Dedenbear Products, return directly to: DEDENBEAR PRODUCTS INC ATI'N REPAIRS + 1917 OAK PARK BLVD.
+ PLEASANT HILL, CA 94523. For faster service, please include a note describing the nature of the problem, a copy of your original
invoice, your hame, return shipping address, and daytime & evening phone numbers where you can be reached.

For Tech. Assistance, Call: (925)935-3025

AS3 Rev. 03/98



